Math 115 Spring 2018 Lecture 19

$$? a^2 + b^2 = c^2$$
?
 $y = m_{X + b} d = rt$

Class Quiz (Box Your Final Ans.)

$$\frac{\chi^{10}y^8}{\chi^2y^7}$$

$$(2x + 5)(2x - 5)$$

Special Product with binomials

(1)
$$(A + B)^2 = (A + B)(A + B)$$

$$= A^2 + AB + BA + B^2$$

$$= A^2 + AB + B^2$$

$$= A^2 + AB + B^2$$

$$= (x + 5)^2 = x^2 + 2(x)(5) + 5^2$$

$$= x^2 + 10x + 25$$

$$(3x + 4)^2 = (3x)^2 + 2(3x)(4) + (4)^2$$

$$= (9x^2 + 24x + 16)$$

$$(4x^{2} + y^{3})^{2} = (4x^{2})^{2} + 2(4x^{2})(y^{3}) + (y^{3})^{2}$$

$$= 16x^{4} + 8x^{2}y^{3} + y^{6}$$
Your turn:
$$(1)(x + 10)^{2} = x^{2} + 2(x)(10) + 10^{2} = x^{2} + 20x + 100$$

$$(2)(4x^{3} + x^{2})^{2} = (4x^{3})^{2} + 2(4x^{3})(x^{2}) + (x^{2})^{2}$$

$$x^{m} \cdot x^{n} = x^{m+n}$$

$$(x^{m})^{n} = x^{m} \cdot n$$

$$= 16x^{6} + 8x^{5} + x^{4}$$

Special Product with binomials

(a)
$$(A - B)^2 = (A - B)(A - B)$$

$$= A^2 - AB - BA + B^2$$

$$= A^2 - AB - AB + B^2$$

$$= A^2 - 2AB + B^2$$

$$= (x-4)^2 = x^2 - 2(x)(4) + (4)^2$$

$$= x^2 - 8x + 16$$

$$(5x - 8)^{2} = (5x)^{2} - 2(5x)(8) + (8)^{2}$$

$$= 25x^{2} - 80x + 64$$

$$(2x^{5} - 3y^{4})^{2} = (2x^{5})^{2} - 2(2x^{3})(3y^{4}) + (3y^{4})^{2}$$

$$= 4x^{10} - 12x^{5}y^{4} + 9y^{8}$$

$$(3x^{7} - x^{4})^{\frac{2}{3}} (3x^{7})(x^{4}) + (x^{4})^{\frac{2}{3}}$$

$$= 9x^{14} - 6x^{11} + x^{8}$$

$$(10x^{6} - 7x^{4})^{\frac{2}{3}} (10x^{6})^{\frac{2}{3}} - 2(10x^{6})(1x^{4}) + (7x^{4})^{\frac{2}{3}}$$

$$= 100x^{12} - 140x^{6}x^{4} + 49x^{8}$$

$$= 100x^{12} - 140x^{10} + 49x^{8}$$

Special Product with binomials

(A+B)(A-B) =
$$A^2 - AB + BA - B^2$$

(onjugates

= $A^2 - AB + AB - B^2$

= $A^2 - B^2$

Difference of two squares

(x+6)(x-6) = (x)^2 - (6)^2

Conjugates

Difference of two squares

= $x^2 - 36$

$$(7x^{3} + 5)(7x^{3} - 5) = (7x^{3})^{2} - (5)^{2}$$
Conjugates
$$= (4x^{6} + 9y^{3})(4x^{8} - 9y^{3}) = (4x^{8})^{2} - (9y^{3})$$
Conjugates
$$= (6x^{16} - 81y^{6})$$

$$(12 \chi^{7} - 11 \chi^{5})(12 \chi^{7} + 11 \chi^{5}) =$$

$$(0n) \text{ injugates}$$

$$(12 \chi^{7})^{2} - (11 \chi^{5})$$

$$Difference of two Sqrs$$

$$= [144 \chi^{14} - 121 \chi^{10}]$$

Simplify:

(1.8 × 10) (9.5 × 10)

$$= 7.91 \times 10$$

$$= 7.91 \times 10 \times 10$$

$$= 7.91 \times 10 \times 10$$

$$= 7.91 \times 10$$

$$\frac{-5\sqrt{3}}{2\sqrt{3}} = \frac{3}{2\sqrt{3}}$$

$$\frac{-5\sqrt{4}}{2\sqrt{2}} = \frac{2\chi^{2}}{-5\sqrt{4}}$$

$$\frac{-5\sqrt{4}}{2\sqrt{2}} = \frac{2\chi^{2}}{2\sqrt{2}}$$

$$\frac{-5\sqrt{4}}{2\sqrt{2}}$$

$$\frac{-5\sqrt{$$

Folynomial

Monomial

$$\frac{15\chi^{2} - 10\chi}{5\chi} = \frac{15\chi^{2}}{5\chi} - \frac{10\chi}{5\chi}$$

$$= 3\chi - 2$$

$$\frac{35\chi^{7} - 14\chi^{3} + 7\chi}{7\chi} = \frac{35\chi^{7} - 14\chi^{3} + \frac{7\chi}{7\chi}}{7\chi}$$

$$= 5\chi^{6} - 2\chi^{2} + 1$$

Divide:
$$45x^{6} - 25x^{4} + 10x^{2}$$

$$= \frac{45x^{6}}{-5x^{2}} - \frac{25x^{4}}{-5x^{2}} + \frac{10x^{2}}{-5x^{2}}$$

$$= \begin{bmatrix} -9x^{4} + 5x^{2} - 2 \end{bmatrix}$$
Trinomial
$$D = 4$$

$$L.C. = -9$$

$$Const. = -2$$

Polynomial
Binomial
$$\frac{\chi^2 - 8\chi + 15}{\chi - 3}$$
Long Division
$$\frac{\chi - 5}{\chi - 3}$$

$$\frac{\chi - 5}{\chi - 3\chi}$$

$$\frac{\chi - 5}{\chi - 3\chi}$$

$$- (\chi^2 - 3\chi)$$

$$- 5\chi + 15$$

$$- (-5\chi + 15)$$
Remainder \rightarrow 0

Divide:
$$\frac{\chi^{3} + 5\chi^{2} - 3\chi + 10}{\chi + 2}$$
 $\chi^{2} = \chi^{3}$
 $\chi^{2} = \chi^{3}$
 $\chi^{2} = \chi^{3}$
 $\chi^{2} = \chi^{3}$
 $\chi^{2} + 3\chi - 9$
 $\chi^{3} = 3\chi^{2}$
 $\chi^{3} + 5\chi^{2} - 3\chi + 10$
 $\chi^{3} = 3\chi^{2}$
 $\chi^{2} = 3\chi^{$

Divide:
$$\frac{\chi^{3} - 3\chi^{2} + 4}{\chi - 2}$$
 $\chi^{2} = \chi^{3}$
 $\chi^{2} - \chi - 2$
 $\chi^{2} = \chi^{3}$
 $\chi^{2} - \chi - 2$
 $\chi^{2} = \chi^{2}$
 $\chi^{2} = \chi^{2}$
 $\chi^{2} - \chi - 2$
 $\chi^{2} = \chi^{2}$
 $\chi^{2} - \chi^{2} + 0\chi + 4$
 $\chi^{2} = \chi^{2}$
 $\chi^{2} = \chi^{2$

Divide:
$$\frac{14x - 2 - (7x^{2} + 6x^{3})}{2x - 3}$$

$$= \frac{6x^{3} - 17x^{2} + 14x - 2}{2x - 3}$$

$$2x = \frac{6x^{3} - 17x^{2} + 14x - 2}{2x - 3}$$

$$2x = \frac{3x^{2} - 4x + 1}{2x - 3}$$

$$2x = \frac{6x^{3} - 17x^{2} + 14x - 2}{-(6x^{3} - 9x^{2})}$$

$$2x = \frac{1}{2x}$$

$$-8x^{2} + 14x - 2$$

$$-8x^{2} + 14x - 2$$

$$-8x^{2} + 14x - 2$$

$$-(2x - 3)$$

$$2x = \frac{2x - 2}{-(2x - 3)}$$
Rem. $\rightarrow 1$